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6. Rough work should be done on the blank pages or in the space
provided for this on each page of this question booklet. Extra
paper will not be supplied.

7. If there is any sort of mistakes discrepancy (in Hindi or English
Version of the question) either of printing or of factual nature then
regarding this Institute no action will be taken on any type of
representation complaint as stated above.

8. After the completion of the examination, no action will be taken on
any representation/complaint regarding the above.

(Note: For Instructions regarding marking the answer please
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Q.1. Which of the following components are included in
macroeconomics?
1. Fiscal Policy 2. Government budget
3. Price Theory 4. Balance of Payments
Code:
(a) 1, 2 and 3
(b) 1, 3 and 4
(c) 1, 2 and 4
(d) 2, 3, and 4

Q.2. Which of the following are characteristics of a capitalist
economy?
1. Dominance of private Sector
2. Objective of maximum profit
3. Economic freedom
4. Reduction in economic disparities
Code:
(a) only 1 (b) 1 and 2
(c) 1, 2 and 3 (d) All of the above

Q.3. Consider the following statements and choose the
correct statement-
1. The average income earned per person in a country

is called per capita income.
2. To find out the per capita income, the total

population is divided by the national income of
that financial year.

Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.4. Match the following:-
List-1 (Revolution) List-2 (Relation)
A. Red Revolution 1. Fisheries production
B. Brown Revolution 2. Oilseed Production
C. Yellow Revolution 3. Cocoa Production
D. Blue Revolution 4. Meat production
Code:

A B C D
(a) 3 4 1 2
(b) 4 1 2 3
(c) 1 2 3 4
(d) 4 3 2 1

Q.5. In which year was the National Agricultural Co-operative
Marketing Federation of India Limited established?
(a) 1954 (b) 1960
(c) 1968 (d) none of these

Q.1. fuEufyf[kr esa ls dkSu ls ?kVd lef’V vFkZ”kkL= esa “kkfey gSa\
1- jktdks’kh; uhfr 2- ljdkjh ctV
3- dher fl)kar 4- Hkqxrku larqyu
dwV %
(a) 1] 2 vkSj 3
(b) 1] 3 vkSj 4
(c) 1] 2 vkSj 4
(d) 2] 3] vkSj 4

Q.2. fuEufyf[kr esa ls dkSu lh fo”ks’krk,a iwathoknh vFkZO;oLFkk
dh gS \
1- futh {ks=ksa dk izHkqRo
2- vf/kdre ykHk dk mís”;
3- vkfFkZd Lora=rk
4- vkfFkZd fo’kerkvksa esa deh
dwV %
(a) dsoy 1 (b) 1 vkSj 2
(c) 1] 2 vkSj 3 (d) mijksDr lHkh

Q.3. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- fdlh ns”k esa izfr O;fDr vftZr dh tkus okyh vkSlr

vk; dks izfr O;fDr vk; dgrs gSaA
2- izfr O;fDr vk; izkIr djus ds fy, ns”k dh dqy

tula[;k dks ml foÙkh; o’kZ dh jk’Vªh; vk; ls Hkkx
fn;k tkrk gSA

dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 u gh 2

Q.4. lqesfyr dhft,%&
lwph&1¼Økafr½ lwph&2 ¼laca/k½
A. yky Økafr 1- eRL; mRiknu
B. Hkwjh Økafr 2- frygu mRiknu
C. ihyh Økafr 3- dksdks mRiknu
D. uhyh Økafr 4- ekal mRiknu
dwV%

A B C D
(a) 3 4 1 2
(b) 4 1 2 3
(c) 1 2 3 4
(d) 4 3 2 1

Q.5. us”kuy ,xzhdYpjy dks&vkWijsfVo ekdsZfVax QsMjs”ku vkWQ
bafM;k fyfeVsM dh LFkkiuk fdl o’kZ dh xbZ Fkh \
(a) 1954 (b) 1960
(c) 1968 (d) buesa ls dksbZ ugha
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Q.6. Consider the following statements and choose the
correct statement-
1. Kisan Call Center was started in 2006.
2. Farmers can get any kind of information related to

agriculture sector by calling the Kisan Call Centre.
Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.7. In the context of Agricultural Census 2015-16, consider
the following statements and select the correct
statement-
1. The number of operational land holdings in the

country has increased from 138 million in 2010-11
to 146 million in 2015-16.

2. The state with highest operational land holding is
Uttar Pradesh.

Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.8. What is the rank of India in Electoral Democracy Index
2023?
(a) 126
(b) 132
(c) 108
(d) 144

Q.9. Match the following:-
List-1 List-2
(Iron Steel Plant) (State)
A. Bokaro 1. West Bengal
B. Durgapur 2. Jharkhand
C. Rourkela 3. Tamil Nadu
D. Salem 4. Orissa
Code:

A B C D
(a) 3 1 4 2
(b) 2 1 4 3
(c) 2 4 1 3
(d) 1 2 3 4

Q.10. Which of the following aluminum plants has been built
in collaboration with Italy?
(a) BALCO
(b) HINDALCO
(c) NALCO
(d) none of these

Q.6. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- fdlku dkWy lsaVj dk izkjaHk 2006 esa gqvk FkkA
2- d’̀kd fdlku dkWy lsaVj esa dkWy djds df̀’k {ks= ls

lacaf/kr fdlh Hkh izdkj dh tkudkjh izkIr dj ldrs gSaA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2

Q.7. df̀’k x.kuk 2015&16 ds lanHkZ esa fuEufyf[kr dFkuksa ij
fopkj dj lR; dFku dk p;u djsa &
1- ns”k esa ifjpkyu tksrksa dh la[;k 2010&11 ds 138

fefy;u ls c<+kdj 2015&16 esa 146 fefy;u gks xbZ gSA
2- lokZf/kd ifjpkyu tksrksa okyk jkT; mRrjizns”k gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 u gh 2

Q.8. pqukoh yksdra= lwpdkad 2023 esa Hkkjr dk LFkku D;k gS\
(a) 126
(b) 132
(c) 108
(d) 144

Q.9. lqesfyr dhft,%&
lwph&1 lwph&2
¼ykSg bLikr la;a=½ ¼jkT;½
A. cksdkjks 1- if”pe caxky
B. nqxkZiqj 2- >kj[k.M
C. jkmjdsyk 3- rfeyukMw
D. lyse 4- mM+hlk
dwV%

A B C D
(a) 3 1 4 2
(b) 2 1 4 3
(c) 2 4 1 3
(d) 1 2 3 4

Q.10. fuEufyf[kr esa ls dkSu lk ,Y;qfefu;e la;a= bVyh ds
lg;ksx ls cuk;k x;k gS \
(a) ckYdks
(b) fgUMkYdks
(c) ukYdks
(d) buesa ls dksbZ ugha
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Q.11. Consider the following statements and choose the
correct statement-
1. The Indo-Pak war took place during the Seventh

Five Year Plan.
2. The Fourth Five Year Plan was based on the P.C.

Mahalanobis model.
3. “Operation Flood” was initiated in the Fourth Five

Year Plan.
Code:
(a) 1 and 2
(b) 2 and 3
(c) Only 3
(d) 1, 2 and 3

Q.12. Arrange the following committees related to poverty in
the Chronological order of their formations–
1. Lakdawala Committee
2. Y. K. Alagh committee
3. Rangarajan Committee
4. Suresh Tendulkar Committee
Code:
(a) 4, 3, 2, 1
(b) 2, 4, 3, 1
(c) 2, 1, 3, 4
(d) None of these

Q13. Which of the following is correct?
(a) Labour force participation rate

=
total workforce
total population

×100

(b) Labour force Participation rate

= 
total workforce
total population

×1000

(c) Labour force Participation rate

= 
total population
total workforce

×100
(d) Labour force Participation rate

= 
total population
total workforce

×1000

Q.14. Which law explains the relationship between the growth
rate and unemployment rate of a country?
(a) Gini coefficient (b) Lorenz’s law
(c) Grasher’s law (d) None of these

Q.15. Consider the following statement and select the correct
statement.
1. The concept of Deflation is the opposite of inflation
2. The concept of Recession is related to the decline

in production and employment.
Code:
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 and 2

Q.11. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- Hkkjr ikd ;q) lkroh iapo’khZ; ;kstuk ds nkSjku gqvk FkkA
2- prqFkZ iapo’khZ; ;kstuk ih-lh- egkyuksfcl ekWMy ij

vk/kkfjr FkhA
3- ÞvkWijs”ku ¶yMß dh “kq:vkr prqFkZ iapo’khZ; ;kstuk esa

gqbZ FkhA
dwV %
(a) 1 vkSj 2
(b) 2 vkSj 3
(c) dsoy 3
(d) 1] 2 vkSj 3

Q.12. xjhch ls lacafèkr fuEufyf[kr lfefr;ksa dks muds xBu ds
vuqlkj Øe esa O;ofLFkr djsa &
1- ydM+kokyk lfefr
2- okb- ds vy?k lfefr
3- jaxjktu lfefr
4- lqjs”k rsanqydj lfefr
dwV %
(a) 4] 3] 2] 1
(b) 2] 4] 3] 1
(c) 2] 1] 3] 4
(d) buesa ls dksbZ ugha

Q.13. fuEufyf[kr esa D;k lR; gS\

(a) Je cy lgHkkfxrk nj ¾ 
dqy dk;Zcy
dqy tual[;k

×100

(b) Je cy lgHkkfxrk nj ¾ 
dqy dk;Zcy
dqy tual[;k

×1000

(c) Je cy lgHkkfxrk nj ¾ 
dqy tual[;k
dqy dk;Zcy

×100

(d) Je cy lgHkkfxrk nj ¾ 
dqy tual[;k
dqy dk;Zcy

×1000

Q.14. fdldk fu;e fdlh ns”k dh fodkl nj vkSj csjkstxkjh nj
ds chp laca/k dks crkrk gS \
(a) fxuh dk fu;e (b) ykWjsUt dk fu;e
(c) xzs”kj dk fu;e (d) buesa ls dksbZ ugha

Q.15. fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u djsaA
1- eqnzk viLQhfr dh voèkkj.kk eqækLQhfr ds foijhr gS
2- eanh dh voèkkj.kk ds varxZr mRiknu vkSj jkstxkj esa
fxjkoV ns[kh tkrh gSA
dwV %
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj 2
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Q.16. Consider the following statements and choose the
correct statement-
1. Increase in bank rate reduces the prices of goods

and services.
2. Reduction in bank rate increases the prices of

goods and services.
Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.17. Consider the following statements and choose the
correct statement-
1. Meera Seth Committee was formed to study the

problem of small scale industries.
2. Abid Hussain Committee was formed to identify

the problems related to the handloom sector in
India.

Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.18. Consider the following statements and choose the
correct statement-
1. Kanpur is called Manchester of India.
2. Mumbai is called the 'Cottonpolis of India’.
3. At present, maximum number of cotton mills are

located in Madhya Pradesh.
Code:
(a) 1 and 2
(b) Only 2
(c) Only 3
(d) 1, 2 and 3

Q.19. Match the following :-
List-1 List-2
(Crop Name) (Support Price in 2022-23)
A. Ragi 1. Rs 1962.
B. Maize 2. Rs 3578.
C. Bajra 3. Rs 2040.
D. Paddy (Common) 4. Rs 2350.
Code:

A B C D
(a) 2 3 4 1
(b) 3 4 1 2
(c) 2 1 4 3
(d) 1 2 3 4

Q.16. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- cSad nj esa of̀) djus ij oLrq,¡ ,oa lsokvksa dh dherksa

esa deh vkrh gSA
2- cSad nj esa deh djus ij oLrqvksa vkSj lsokvksa dh dherksa

esa of̀) gksrh gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 u gh 2

Q.17. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- ehjk lsB lfefr dk xBu y?kq m|ksx dh leL;k dk v/

;;u djus ds fy, cukbZ x;h FkhA
2- vkfcn gqlSu lfefr dk xBu Hkkjr esa gFkdj?kk {ks= ls

tqM+h leL;kvksa dh igpku ds fy, dh xbZ FkhA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2

Q.18. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- dkuiqj dks Hkkjr dk eSupsLVj dgk tkrk gSA
2- eqEcbZ dks ̂ lwrh diM+ksa dh egkuxjh* dgk tkrk gSA
3- orZeku esa e/;izns”k esa lokZf/kd lwrh fey fLFkr gSA
dwV %
(a) 1 vkSj 2
(b) dsoy 2
(c) dsoy 3
(d) 1] 2 vkSj 3

Q.19. lqesfyr dhft,%&
lwph&1 lwph&2
¼Qly dk uke½ ¼2022&23 esa leFkZu ewY;½
A. jkxh 1- 1962 :-
B. eDdk 2- 3578 :-
C. cktjk 3- 2040 :-
D. /kku¼lkekU;½ 4- 2350 :-
dwV%

A B C D
(a) 2 3 4 1
(b) 3 4 1 2
(c) 2 1 4 3
(d) 1 2 3 4
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Q.20. Match the following :-
List-1 List-2
(Organization /Group) (Headquarters)
A. ASEAN 1. Manila
B. Asian Development Bank 2. Singapore
C. OPEC 3. Jakarta
D. Asia Pacific Economic 4. Vienna

Cooperation
Code:

A B C D A B C D
(a) 2 3 4 1 (b) 4 3 2 1
(c) 1 3 4 2 (d) 3 1 4 2

Q.21. Which of the following are effects of devaluation?
1. Decrease in exports
2. Increase in imports
3. Increase in current account deficit
Code:
(a) 1 and 2
(b) 2 and 3
(c) 1 and 3
(d) none of these

Q.22. Which of the following taxes are indirect taxes?
1. Service Tax 2. wealth tax
3. Customs 4. Excise duty
Code:
(a) 1, 2 and 4
(b) 2, 3 and 4
(c) 1, 3 and 4
(d) 1, 2, 3 and 4

Q.23. Consider the following statements and choose the
correct statement-
1. The first budget of independent India was

presented by R.K. Shanmukham Chetty.
2. The credit for presenting the budget, maximum

number of times in India goes to Morarji Desai.
Code:
(a) only 1 (b) only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

Q.24. Arrange the following banks in the chronological order
according to their establishments:-
1. Land Development Bank
2. Regional Rural Bank
3. National Bank for  Agriculture and Rural

Development
4. Small Industries Development Bank of India
Code:
(a) 1, 2, 3, 4 (b) 1, 3, 4, 2
(c) 1, 4, 2, 3 (d) 1, 3, 2, 4

Q.20. lqesfyr dhft,%&
lwph&1 ¼laxBu lewg½ lwph&2 ¼eq[;ky;½
A. vkfl;ku 1- euhyk
B. ,f”k;kbZ fodkl cSad 2- flaxkiqj
C. vksisd 3- tdkrkZ
D. ,f”k;k iz”kkar vkfFkZd lg;ksx 4- fo;uk
dwV%

A B C D A B C D
(a) 2 3 4 1 (b) 4 3 2 1
(c) 1 3 4 2 (d) 3 1 4 2

Q.21. fuEufyf[kr esa ls D;k voewY;u ls gksus okys izHkko gSa \
1- fu;kZr esa deh
2- vk;kr esa of̀)
3- pkyw [kkrk ?kkVs esa c<+ksÙkjh
dwV %
(a) 1 vkSj 2
(b) 2 vkSj 3
(c) 1 vkSj 3
(d) buesa ls dksbZ ugha

Q.22. fuEufyf[kr esa ls dkSu ls dj vizR;{k izdkj ds gSa \
1- lsok dj 2- lEifÙk dj
3- lhek “kqYd 4- mRikn “kqYd
dwV %
(a) 1] 2 vkSj 4
(b) 2] 3 vkSj 4
(c) 1] 3 vkSj 4
(d) 1] 2] 3 vkSj 4

Q.23. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- Lora= Hkkjr dk igyk ctV vkj-ds- ‘k.keq[ke psV~Vh

}kjk izLrqr fd;k x;k FkkA
2- Hkkjr esa lokZf/kd ckj ctV izLrqr djus dk Js;

eksjkjth nslkbZ dks gSA
dwV %
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 u gh 2

Q.24. fuEufyf[kr fn, gq, cSadks dks mudh LFkkiuk ds vuqlkj Øe
esa O;ofLFkr djsa %&
1- Hkwfe fodkl cSad
2- {ks=h; xzkeh.k cSad
3- jk’Vªh; df̀’k rFkk xzkeh.k fodkl cSad
4- Hkkjrh; y?kq m|ksx fodkl cSad
dwV %
(a) 1, 2, 3, 4 (b) 1, 3, 4, 2
(c) 1, 4, 2, 3 (d) 1, 3, 2, 4
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Q.25. Consider the following statements and choose the
correct statement-
1. “Special Drawing Rights” is an international reserve

currency asset.
2. The value of the Special Drawing Rights is based

on a basket of major currencies of seven countries.
Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.26. Which of the following institutions are included in the
World Bank Group?
1. International Development Association
2. International Finance Corporation
3. International Bank for  Reconstruction and

Development
4. Multilateral Investment Guarantee Agency
Code:
(a) only 1
(b) 1 and 2
(c) 1, 2 and 3
(d) All of the above

Q.27. Gross Domestic Product at Factor Cost (GDPFC) = ?
(a) Gross Domestic Product at Market Price – Indirect

Taxes – Subsidies
(b) Gross Domestic Product at Market Price – Indirect

Taxes + Subsidies
(c) Gross Domestic Product at market price + Indirect

Taxes – Subsidies
(d) None of these

Q.28. Consider the following statements and choose the
correct statement-
1. The World Happiness Report is published by the

United Nations Sustainable Development Solutions
Network.

2. The first World Happiness Report was published
in 2015.

Code:
(a) only 1 (b) only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

Q.29. Consider the following statements and choose the
incorrect statement-
1. Pradhan Mantri Fasal Bima Yojana was started in

2015.
2. Pradhan Mantri Krishi Sinchai Yojana was started

in 2016.
Code:
(a) only 1 (b) only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

Q.25. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- Þfo”ks’k vkgj.k vf/kdkjß ,d varjkZ’Vªh; vkjf{kr eqnzk

lEifÙk gSA
2- fo”ks’k vkgj.k vf/kdkj dk ewY; lkr ns”kksa dh izeq[k

eqnzkvksa dh ,d Vksdjh ij vk/kkfjr gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 u gh 2

Q.26. fuEufyf[kr esa ls dkSu lh laLFkk,¡ fo”o cSad lewg esa “kkfey gSa\
1- varjkZ’Vªh; fodkl la?k
2- varjkZ’Vªh; foÙk la?k
3- varjkZ’Vªh; iqufuekZ.k ,oa fodkl la?k
4- cgqi{kh; fuos”k xkjaVh ,tsalh
dwV %
(a) dsoy 1
(b) 1 vkSj 2
(c) 1] 2 vkSj 3
(d) mijksDr lHkh

Q.27. lk/ku ykxr ij ldy ?kjsyw mRikn (GDPFC) = ?
(a) cktkj dher ij ldy ?kjsyw mRikn & ijks{k dj &

lfClMh
(b) cktkj dher ij ldy ?kjsyw mRikn & ijks{k dj $

lfClMh
(c) cktkj dher ij ldy ?kjsyw mRikn $ ijks{k dj &

lfClMh
(d) buesa ls dksbZ ugha

Q.28. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- fo”o [kq”kgkyh fjiksVZ la;qDr jk’Vª lrr fodkl

lek/kku usVodZ }kjk izdkf”kr dh tkrh gSA
2- igyh fo”o [kq”kgkyh fjiksVZ 2015 esa izdkf”kr dh xbZ FkhA
dwV %
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

Q.29. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa vlR; dFku dk
p;u dhft,&
1- iz/kkuea=h Qly chek ;kstuk dh “kq:vkr 2015 esa dh

xbZ FkhA
2- iz/kkuea=h d̀f’k flapkbZ ;kstuk dh “kq:vkr 2016 esa dh

xbZ FkhA
dwV %
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2
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Q.30. Which of the following companies is a Navratna
company?
1. Bharat Electronics Limited
2. Engineers India Limited
3. Bharat Sanchar Nigam Limited
4. Rashtriya Ispat Nigam Limited
Code:
(a) 1, 2 and 4
(b) 2, 3 and 4
(c) 1, 3 and 4
(d) 1, 2, 3 and 4

Q.31. Which of the following is included in the classification
of economy on the basis of income by the World Bank?
1. Low Income Economy
2. Lower middle income economy
3. Upper middle income economy
4. Middle income economy
5. High Income Economy
Code:
(a) 1, 2, 3, 4 and 5
(b) 2, 3, 4 and 5
(c) 1, 2, 3 and 4
(d) 1, 2, 3 and 5

Q.32. Consider the following statements and choose the
correct statement-
1. The mid-day meal program was started in 1995.
2. The name of this scheme has now been changed to

National PM POSHAN Scheme.
Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.33. Maximum loan up to how many lakh rupees is provided
under Mudra Bank Scheme?
(a) Up to Rs 5 lakh (b) Up to 12 lakhs
(c) Up to 10 lakhs (d) none of these

Q.34. Match the following :-
List-1 (Index) List-2 (Stock Exchange)
A. KOSPI 1. Singapore Stock Exchange
B. STI 2. Korea Stock Price Index
C. Nikkei 3. National Stock Exchange,

Mumbai
D. Nifty 50 4. Tokyo Stock Exchange
Code:

A B C D A B C D
(a) 4 3 2 1 (b) 1 2 3 4
(c) 2 1 3 4 (d) 2 1 4 3

Q.30. fuEufyf[kr esa ls dkSu lh dEiuh uojRu dEiuh gS \
1- Hkkjr bysDVªkfuDl fyfeVsM
2- bathfu;lZ bafM;k fyfeVsM
3- Hkkjr lapkj fuxe fyfeVsM
4- jk’Vªh; bLikr fuxe fyfeVsM
dwV %
(a) 1] 2 vkSj 4
(b) 2] 3 vkSj 4
(c) 1] 3 vkSj 4
(d) 1] 2] 3 vkSj 4

Q.31. fuEu esa ls fo”o cSad }kjk vk; ds vk/kkj ij vFkZO;oLFkk ds
oxhZdj.k esa D;k “kkfey gS \
1- fuEu vk; vFkZO;oLFkk
2- fuEu e/;e vk; vFkZO;oLFkk
3- mPp e/;e vk; vFkZO;oLFkk
4- e/;e vk; vFkZO;oLFkk
5- mPp vk; vFkZO;oLFkk
dwV %
(a) 1] 2] 3] 4 vkSj 5
(b) 2] 3] 4 vkSj 5
(c) 1] 2] 3 vkSj 4
(d) 1] 2] 3 vkSj 5

Q.32. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- e/;kUg Hkkstu dk;ZØe 1995 bZ- esa izkjaHk fd;k x;k FkkA
2- bl ;kstuk dk uke vc jk’Vªh; ih,e iks’k.k ;kstuk dj

fn;k x;k gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2

Q.33. eqnzk cSad ;kstuk esa vf/kdre fdrus yk[k :i, rd dk
_.k miyC/k djk;k tkrk gSa \
(a) 5 yk[k rd (b) 12 yk[k rd
(c) 10 yk[k rd (d) buesa ls dksbZ ugha

Q.34. lqesfyr dhft,%&
lwph&1¼lwpdkad½ lwph&2 ¼LVkWd ,Dlpsat½
A. dksLih 1- flaxkiqj LVkWd ,Dlpsat
B. ,l Vh vkbZ 2- dksfj;k LVkWd izkbl baMsDl
C. fuDdh 3- us”kuy LVkWd ,Dlpsat] eqEcbZ
D. fu¶Vh 50 4- VksD;ks LVkWd ,Dlpsat
dwV%

A B C D A B C D
(a) 4 3 2 1 (b) 1 2 3 4
(c) 2 1 3 4 (d) 2 1 4 3
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Q.35. Which of the following items are included in capital
receipts?
1. Disinvestment
2. Provident Fund Deposit
3. Small Savings Deposit
4. Funds received through grants
Code:
(a) only 1
(b) 1 and 2
(c) 1, 2 and 3
(d) All of the above

Q.36. What relationships expressed in the Laffer curve?
(a) Capital receipts and tax rates
(b) Revenue expenditure and tax rate
(c) Revenue income and capital gains
(d) none of these

Q.37. Which taxes have been kept out of GST?
1. Tax on petroleum products
2. Tax on alcoholic products
3. Electricity duty tax
4. Entertainment Tax
Code:
(a) only 1 (b) 1 and 2
(c) 1, 2 and 3 (d) All of the above

Q.38. Match the following :-
List-1 (Crops) List-2 (Major Producing States)
A. Maize 1. Gujarat
B. Mustard 2. West Bengal
C. Jute 3. Karnataka
D. Groundnut 4. Rajasthan
Code:

A B C D
(a) 4 3 2 1
(b) 3 4 2 1
(c) 3 4 1 2
(d) 1 2 3 4

Q.39. Consider the following statements and choose the
correct statement-
1. Multidimensional Poverty Index in India is released

by NITI Aayog.
2. According to this index, the poorest state is

Rajasthan.
Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.35. fuEufyf[kr esa ls dkSu lh ensa i¡wthxr izkfIr;ksa esa “kkfey gS&
1- fofuos”k
2- Hkfo’; fuf/k tek
3- vYi cpr tek
4- vuqnku }kjk izkIr /kujkf”k
dwV %
(a) dsoy 1
(b) 1 vkSj 2
(c) 1] 2 vkSj 3
(d) mijksDr lHkh

Q.36. ySQj oØ esa fduds chp ds laca/kksa dks izfrikfnr fd;k tkrk
gS \
(a) iawth dh izkfIr vkSj dj dh nj
(b) jktLo O;; vkSj dj dh nj
(c) jktLo vk; vkSj i¡wthxr izkfIr
(d) buesa ls dksbZ ugha

Q.37. fdu djksa dks th,lVh ls ckgj j[kk x;k gS \
1- isVªksfy;e mRiknksa ij dj
2- eknd mRiknksa ij dj
3- fctyh “kqYd dj
4- euksjatu dj
dwV %
(a) dsoy 1 (b) 1 vkSj 2
(c) 1] 2 vkSj 3 (d) mijksDr lHkh

Q.38. lqesfyr dhft,%&
lwph&1¼Qly½ lwph&2 ¼eq[; mRiknd jkT;½
A. eDdk 1- xqtjkr
B. ljlksa 2- if”pe caxky
C. twV 3- dukZVd
D. e¡wxQYyh 4- jktLFkku
dwV%

A B C D
(a) 4 3 2 1
(b) 3 4 2 1
(c) 3 4 1 2
(d) 1 2 3 4

Q.39. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa lR; dFku dk
p;u dhft,&
1- Hkkjr esa cgqvk;keh xjhch lwpdkad uhfr vk;ksx }kjk

tkjh fd;k tkrk gSA
2- bl lwpdkad ds vuqlkj lcls xjhc jkT; jktLFkku gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2
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Q.40. Consider the following statements and choose the
incorrect statement-
1. According to the 2011 census, the state with the

highest male literacy is Kerala.
2. According to the 2011 census, the union territory

with the highest literacy percentage is Delhi.
Code:
(a) only 1
(b) only 2
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.41. What is the full form of IRDA?
(a) India road development agency
(b) International refinance and development
association
(c) Insurance regulatory and development authority
(d) International reconstruction and development
association

Q.42. When was the Union Budget 2023-24 presented?
(a) 1 March 2023 (b) 31 March 2023
(c) 01 February 2023 (d) 30 March 2023

Q.43. What is the full form of MISHTI scheme?
(a) Mango Initiative for Shoreline Habitats & Tangible

Incomes
(b) Mangrove Initiative for Shoreline Habitats &

Tangible Incomes
(c) Mangrove Information for Shoreline Habitats &

Tangible Incomes
(d) Mangrove Initiative for Sealine Habitats & Tangible

Incomes

Q.44. According to the Central Economic Survey 2022-23, the
fiscal deficit is estimated to be what percentage of the
GDP?
(a) 6.4% (b) 6.5%
(c) 7.0% (d) 6.8%

Q.45. How many PM Shri schools will be constructed from
the financial year 2023 to 2027?
(a) 15500 (b) 15200
(c) 14500 (d) 14900

Q.46. How many sectors are included in Make in India 2.0?
(a) 17 (b) 27
(c) 22 (d) 32

Q.47. According to the Economic Survey 2022-23, what is the
estimated inflation rate for the financial year 2023?
(a) 5.6 percent (b) 6.8 percent
(c) 4.5 percent (d) 7.2 percent

Q.40. fuEufyf[kr dFkuksa ij fopkj dhft, ,oa vlR; dFku dk
p;u dhft,&
1- 2011 dh tux.kuk ds vuqlkj lokZf/kd iq:’k lk{kjrk

okyk jkT; dsjy gSA
2- 2011 dh tux.kuk ds vuqlkj lokZf/kd lk{kjrk izfr”kr

okyk dsUnz”kkflr izns”k fnYyh gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2

Q.41. IRDA dk iw.kZ :i D;k gS\
(a) bafM;k jksM MsOgyieasaV ,tsalh
(b) baVjus”kuy fjQkbusal ,.M MsOgyiesaV ,lksfl,”ku
(c) balksjsa”k jsx;qysVjh ,.M MsOgyiesaV vFkksfjVh
(d) baVjus”kuy fjdULVªD”ku ,.M MsOgyiesaV ,lksfl,”ku

Q.42. dsUnzh; ctV 2023&24 dc izLrqr fd;k x;k\
(a) 1 ekpZ 2023 (b) 31 ekpZ 2023
(c) 01 Qjojh 2023 (d) 30 ekpZ 2023

Q.43. MISHTI ;kstuk dk iw.kZ :i D;k gS\
(a) Mango Initiative for Shoreline Habitats & Tangible

Incomes
(b) Mangrove Initiative for Shoreline Habitats &

Tangible Incomes
(c) Mangrove Information for Shoreline Habitats &

Tangible Incomes
(d) Mangrove Initiative for Sealine Habitats & Tangible

Incomes

Q.44. dsUnzh; vkfFkZd losZ{k.k 2022&23 ds vuqlkj jktdks’kh; ?kkVs
dks ldy ?kjsyw mRikn dk fdruk izfr”kr jgus dk vuqeku
yxk;k x;k gS \
(a) 6.4% (b) 6.5%
(c) 7.0% (d) 6.8%

Q.45. foÙkh; o’kZ 2023 ls 2027 rd fdrus ih,e Jh Ldwyksa dk
fuekZ.k fd;k tk,xk \
(a) 15500 (b) 15200
(c) 14500 (d) 14900

Q.46. esd bu bafM;k 2-0 esa fdrus {ks=ksa dks “kkfey fd;k x;k gS\
(a) 17 (b) 27
(c) 22 (d) 32

Q.47. vkfFkZd losZ{k.k 2022&23 ds vuqlkj] foRrh; o’kZ 2023 ds
fy, eqnzk LQhfr dh nj dk vuqeku fdruk gS\
(a) 5-6 izfr”kr (b) 6-8 izfr”kr
(c) 4-5 izfr”kr (d) 7-2 izfr”kr
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Q.48. According to the Economic Survey 2022-23, what is the
increase in gross value addition by the industrial sector?
(a) 2.5 percent (b) 4.2 percent
(c) 4.5 percent (d) 3.7 percent

Q.49. In which year was zero based budgeting used for the
first time in India?
(a) 1984 (b) 1985
(c) 1989 (d) None of these

Q.50. How much amount has been approved for Pradhan
Mantri Awas Yojana in Budget 2023?
(a) Rs 70,000 crore
(b) Rs 45270 crore
(c) Rs 75238 crore
(d) none of these

Q.51. Consider the following statements regarding
announcements in Chhattisgarh Budget 2023-24 and
select the correct statement-
1. Rs. 10,000 is going to be given to Anganwadi

Workers per month.
2. Rs. 5,500 is going to be given to mini-Anganwadi

workers per month.
3. Rs. 3,000 is going to be given to Anganwadi Helpers

per month.
Code:
(a) 1 and 2
(b) 1 and 3
(c)  2 and 3 Only
(d) 1 Only

Q.52. According to the Economic Survey 2022-23, what is the
area developed under fisheries in Chhattisgarh state?
(a) 1.961 lakh hectares
(b) 1.691 lakh hectares
(c) 1.169 lakh hectares
(d) None of these

Q.53. According to Chhattisgarh Economic Survey 2022-23
consider the following statements regarding GSDP at
constant price and select the incorrect statements-
1. The growth rate estimated in the year  2022-23 in

the Agriculture sector is 6.83%.
2. The growth rate estimated in the year  2022-23 in

the industry sector is 7.83%.
3. The growth rate estimated in the year  2022-23 in

the Service sector is 10.12%.
Code:
(a) 1 and 2 (b) 1 and 3
(c)  2 and 3 (d) 2 Only

Q.48. vkfFkZd losZ{k.k 2022&23 ds vuqlkj] vkS|ksfxd {ks= }kjk
ldy ewY; lao/kZu esa fdruh of̀) gqbZ gS\
(a) 2-5 izfr”kr (b) 4-2 izfr”kr
(c) 4-5 izfr”kr (d) 3-7 izfr”kr

Q.49. Hkkjr esa “kwU; vk/kkfjr ctV dk iz;ksx igyh ckj fdl o’kZ
fd;k x;k Fkk\
(a) 1984 (b) 1985
(c) 1989 (d) buesa ls dksbZ ugha

Q.50. ctV 2023 esa iz/kkuea=h vkokl ;kstuk ds fy, fdruh
/kujkf”k Lohdr̀ dh xbZ gS\
(a) 70]000 djksM+ :i,
(b) 45270 djksM+ :i,
(c) 75238 djksM+ :i,
(d) buesa ls dksbZ ugha

Q.51- NÙkhlx<+ ctV 2023&24 esa ?kks"k.kkvksa ds lacaèk esa fuEufyf[kr
dFkuksa ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- vkaxuckMh dk;ZdrkZvksa dks çfr ekg 10]000 #i;s fn;s

tk;saxs-
2- feuh vkaxuokM+h dk;ZdrkZvksa dks 5500 #i;s çfr ekg

fn, tkus tk jgs gSa-
3- vkaxuckMh lgkf;dkvksa dks çfr ekg 3]000 #i;s fn;s

tk;saxs-
dwV %
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) dsoy 2 vkSj 3
(d) dsoy 1

Q.52- vkfFkZd losZ{k.k 2022&23 ds vuqlkj NÙkhlx<+ jkT; esa
eNyh ikyu ds varxZr fodflr ty {ks= fdruk gS\
(a) 1-961 yk[k gsDVs;j
(b) 1-691 yk[k gsDVs;j
(c) 1-169 yk[k gsDVs;j
(d) buesa ls dksbZ ugha

Q.53- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fLFkj ewY;
ij th,lMhih ds lacaèk esa fuEufyf[kr dFkuksa ij fopkj djsa
vkSj vlR; dFkuksa dk p;u djsa&
1- —f"k {ks= esa o"kZ 2022&23 esa vuqekfur òf) nj 6.83%.gSA
2- m|ksx {ks= esa o"kZ 2022&23 esa vuqekfur òf) nj 7.83% gSA
3- lsok {ks= esa o"kZ 2022&23 esa vuqekfur òf) nj 10.12%gSA
dwV %
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) 2 vkSj 3
(d) dsoy 2
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Q.54. According to Chhattisgarh Economic Survey 2022-23,
what is the Revenue Receipt of Chhattisgarh for the
year 2022-23?
(a) Rs. 89800.25 Crore
(b) Rs. 89.73 Crore
(c) Rs. 89,073.25 Crore
(d) None of the above

Q.55. According to Chhattisgarh Economic Survey 2022-23
consider the following statement and select the correct
statements-
1. At present the total created irrigation potential in

Chhattisgarh is 21.47 lakh hectares (till March 2022).
2. At present in Chhattisgarh their are 8 Large

irrigation projects are constructed.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.56. According to Chhattisgarh Economic Survey 2022-23
consider the following statement and select the correct
statements-
1. The per capita income of Chhattisgarh (at current

prices in the year 2022-23) is Rs.133898.
2. The per capita income of India (at current prices in

the year 2022-23) is Rs.170620.
Code:
(a) 1 Only (b) 2 Only
(c) 1 and 2 (d) None of these

Q.57. Consider the following statement and select the correct
statement-
1. Rajiv Gandhi Gramin Bhumihin Krishi Nyay Yojana

was launched on 3rd February 2020.
2. Under this Rs. 7000 will be provided to the landless

families.
Code:
(a) 1 Only (b) 2 Only
(c) 1 and 2 (d) None of these

Q.58. According to Chhattisgarh Economic Survey 2022-23,
consider the following statements regarding GSDP at
constant price and select the correct statements-
1. The share of Agriculture and allied sector in the

year 2022-23 is 17.91%.
2. The share of Industry sector in the year 2022-23 is 48.88%.
3. The share of Service sector in the year 2022-23 is

33.21%.
Code:
(a) 1 and 2
(b) 1 and 3
(c)  2 and 3
(d) 3 Only

Q.54- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj] o"kZ 2022&23
ds fy, NÙkhlx<+ dh jktLo çkfIr;ka fdruh gS\
(a) 89800-25 djksM+ #i;s
(b) 89-73 djksM+ #i;s
(c) 89]073-25 djksM+ #i;s
(d) mijksDr esa ls dksbZ ugha

Q.55- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fuEufyf[kr
dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- orZeku esa NÙkhlx<+ esa dqy l̀ftr flapkbZ {kerk

21-47 yk[k gsDVs;j ¼ekpZ 2022 rd½ gSA
2- orZeku esa NÙkhlx<+ esa 8 cM+h flapkbZ ifj;kstuk,¡

fufeZr gSaA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.56- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fuEufyf[kr
dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- NÙkhlx<+ dh çfr O;fä vk; ¼o"kZ 2022&23 esa izpfyr

Hkko ij½ 133898 #i;s gSA
2- Hkkjr dh çfr O;fä vk; ¼o"kZ 2022&23 esa izpfyr Hkko

ij½ 170620 #i;s gSA
dwV %
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 (d) buesa ls dksbZ ugha

Q.57- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- jktho xkaèkh xzkeh.k Hkwfeghu —f"k U;k; ;kstuk 3 Qjojh

2020 dks 'kq: dh xbZ FkhA
2- blds rgr Hkwfeghu ifjokjksa dks 7000 #i;s çnku fd;s

tk;saxsA
dwV %
(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 (d) buesa ls dksbZ ugha

Q.58- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fLFkj ewY;
ij th,lMhih ds lacaèk esa fuEufyf[kr dFkuksa ij fopkj djsa
vkSj lR; dFku dk p;u djsa&
1- o"kZ 2022&23 esa —f"k ,oa lac) {ks= dh fgLlsnkjh 17.91%gSA
2- o"kZ 2022&23 esa m|ksx {ks= dh fgLlsnkjh 48-88 izfr”kr gSA
3- o"kZ 2022&23 esa lsok {ks= dh fgLlsnkjh 33-21 izfr”kr gSA
dwV %
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) 2 vkSj 3
(d) dsoy 3
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Q.59. Consider the following statement and select the correct
statement-
1. The  total number of clubs will be opened under

Rajiv yuva mitan club scheme is 12361.
2. The age limit under this club is 15-40 years.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.60. According to Chhattisgarh Economic Survey 2022-23,
what is the Revenue surplus of Chhattisgarh for the
year 2022-23?
(a) Rs.601.64 crore
(b) Rs.501.64 crore
(c) Rs.701.64 crore
(d) None of these

Q.61. Consider the following statement and select the
incorrect statement-
1. Chhattisgarh Millet Mission scheme is operated in

13 districts of Chhattisgarh.
2. Under this scheme promotion is given to the

cultivation of Kodo, Kutki and Ragi.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.62. Consider the following statement and select the correct
statement-
1. Mukhya Mantri Vriksharopan Protsahan Scheme

was initiated on 1st June, 2022.
2. Chhattisgarh Millet Mission scheme was initiated

on 10th September, 2022.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.63. Consider the following statement and select the correct
statement-
1. Mahatma Gandhi Rural Industrial Park Chhattisgarh

(RIPA) was launched on 2nd October 2022.
2. Mukhya Mantri Mitan Yojana was Launched on

1st May 2023.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.59- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- jktho ;qok ferku Dyc ;kstuk ds varxZr [kksys tkus

okys Dycksa dh dqy la[;k 12361 gSA
2- bl Dyc ds varxZr vk;q lhek 15&40 o"kZ gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.60- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj] o"kZ 2022&23
ds fy, NÙkhlx<+ dk jktLo vf/kD; fdruk gS\
(a) 601-64 djksM+ #i;s
(b) 501-64 djksM+ #i;s
(c) 701-64 djksM+ #i;s
(d) buesa ls dksbZ ugha

Q.61- fuEufyf[kr dFku ij fopkj djsa vkSj vlR; dFku dk p;u djsa&
1- NÙkhlx<+ feysV fe'ku ;kstuk NÙkhlx<+ ds 13 ftyksa

esa lapkfyr gSA
2- bl ;kstuk ds rgr dksnks] dqVdh vkSj jkxh dh [ksrh dks

c<+kok fn;k tkrk gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.62- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- eq[;ea=h o{̀kkjksi.k çksRlkgu ;kstuk 1 twu] 2022 dks

'kq: dh xbZ FkhA
2- NÙkhlx<+ feysV fe'ku ;kstuk 10 flracj] 2022 dks

'kq: dh xbZ FkhA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.63- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u
djsa&
1- egkRek xkaèkh xzkeh.k vkS|ksfxd ikdZ NÙkhlx<+ ¼RIPA½

2 vDVwcj 2022 dks y‚Up fd;k x;k FkkA
2- eq[;ea=h ferku ;kstuk 1 ebZ 2023 dks 'kq: dh xbZ FkhA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha
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Q.64- vkbZ,l,Qvkj fjiksVZ 2021 ds vuqlkj] NÙkhlx<+ esa ns”k ds
dqy dkcZu LVkWd dk fdruk izfr”kr gS\
(a) 9-86 izfr”kr
(b) 6-89 izfr”kr
(c) 8-69 izfr”kr
(d) buesa ls dksbZ ugha

Q.65- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fuEufyf[kr
dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- NÙkhlx<+ esa cSad dh la[;k 47 gSA
2- NÙkhlx<+ esa cSadksa dh 'kk[kkvksa dh la[;k 3223 gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.66- fuEufyf[kr dFku ij fopkj djsa vkSj vlR; dFku dk p;u
djsa&
1- 0 ls 5 o"kZ dh vk;q ds cPpksa esa dqiks"k.k vkSj 15 ls 49

o"kZ dh yM+fd;ksa vkSj efgykvksa esa ,uhfe;k dks nwj djus
ds fy, eq[;ea=h lqiks"k.k ;kstuk 'kq: dh xbZA

2- eq[;ea=h dU;knku ;kstuk dk mís'; xjhc] t:jrean]
fujkfJr ifjokjksa dks mudh csfV;ksa@foèkokvksa@rykd'kqnk
yksxksa dh 'kknh ds fy, foÙkh; lgk;rk çnku djuk gSA

3- eq[;ea=h dU;knku ;kstuk ds rgr 35]000 #i;s dh
lgk;rk çnku dh tkrh gSA

dwV %
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) buesa ls dksbZ ugha
(d) dsoy 3

Q.67- fuEufyf[kr esa ls dkSu lh ;kstuk egkRek xkaèkh dh t;arh ij
'kq: dh xbZ Fkh\
1- eq[;ea=h lqiks"k.k vfHk;kuA
2- eq[;ea=h gkV cktkj Dyhfud ;kstukA
3- eq[;ea=h okMZ dk;kZy; ;kstukA
4- eq[;ea=h Lye LokLF; ;kstukA
dwV %
(a) 1 vkSj 2 (b) 1 vkSj 3
(c) dsoy 2 (d) mijksDr lHkh

Q.68- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj] o"kZ 2022&23
ds fy, NÙkhlx<+ dk jktLo O;; fdruk vuqekfur gS\
(a) 88371-61 djksM+ #i;s
(b) 90]300 -51 djksM+ #i;s
(c) 50]300-41 djksM+ #i;s
(d) buesa ls dksbZ ugha

Q.64. According to ISFR Report 2021, what percentage of the
country's total carbon stock is in Chhattisgarh?
(a) 9.86 percent
(b) 6.89 percent
(c) 8.69 percent
(d) None of these

Q.65. According to Chhattisgarh Economic Survey 2022-23,
consider the following statement and select the correct
statement-
1. The number of bank in Chhattisgarh is 47.
2. The number of Banks branches in Chhattisgarh is

3223.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.66. Consider the following statement and select the
incorrect statement-
1. Mukhya Mantri Suposhan Yojana was introduced

to eradicate malnutrition of children of 0 to 5 years
age & anaemia of girls & women between 15 to 49
years age.

2. Mukhya Mantri Kanyadan Scheme objective is to
provide financial help to poor, needy, destitute
families for marrying off their daughters/widows/
divorcees.

3. Under the Mukhya Mantri Kanyadan Scheme,
assistance of Rs. 35,000 is provided.

Code:
(a) 1 and 2
(b) 1 and 3
(c)  None of these
(d) 3 Only

Q.67. Which among the following scheme was Launched on
the Birth Anniversary of Mahatma Gandhi?
1. Mukya Mantri Suposhan Abhiyan.
2. Mukya Mantri Haat Bazaar Clinic Scheme.
3. Mukya Mantri Ward Karyalay Yojana.
4. Mukya Mantri Slum Swastha Yojana.
Code:
(a) 1 and 2 (b) 1 and 3
(c)  2 Only (d) All of these

Q.68. According to Chhattisgarh Economic Survey 2022-23,
what is the Estimated Revenue expenditure of
Chhattisgarh for the year 2022-23?
(a) Rs. 88371.61 crore
(b) Rs. 90,300 .51 crore
(c) Rs 50,300.41 crore
(d) None of these
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Q.69- pded vfHk;ku NÙkhlx<+ esa fuEufyf[kr esa ls fdl foHkkx
ls lacafèkr gS\
(a) efgyk ,oa cky fodkl
(b) [kfut fodkl
(c) f'k{kk vkSj dkS'ky fodkl
(d) buesa ls dksbZ ugha

Q.70- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj] NÙkhlx<+ esa
çkFkfed —f"k lk[k lgdkjh lfefr;ksa dh la[;k fdruh gS\
(a) 2085
(b) 1443
(c) 2058
(d) 1333

Q.71- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fuEufyf[kr
dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- NÙkhlx<+ esa —f"k ;a= lsok dsUæksa dh la[;k 2805 gSA
2- orZeku esa NÙkhlx<+ esa dqy flapkbZ dk izfr”kr 39-75

izfr”kr gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2 nksuksa
(d) u rks 1 vkSj u gh 2

Q.72- fl;ku tru fDyfud ;kstuk dk mís'; D;k gS\
(a) cPpksa dks csgrj mipkj vkSj LokLF; lsok,a çnku

djukA
(b) cqtqxksZa dks csgrj mipkj vkSj LokLF; lsok,a çnku

djukA
(c) efgykvksa dks csgrj mipkj vkSj LokLF; lsok,a çnku

djukA
(d) buesa ls dksbZ ugha

Q.73- M‚- [kwcpan c?ksy LokLF; lgk;rk ;kstuk esa NÙkhlx<+ esa
fuEufyf[kr esa ls dkSu lh ;kstuk 'kkfey gS\
1- çèkkuea=h tu vkjksX; ;kstukA
2- jk"Vªh; cky LokLF; chek ;kstukA
3- eq[;ea=h cky ân; lqj{kk ;kstukA
4- eq[;ea=h cky Jo.k ;kstukA
5- eq[;ea=h LokLF; chek ;kstukA
dwV %
(a) dsoy 1]2]3
(b) dsoy 1]3]4
(c) 2]3]4]5
(d) mijksDr lHkh

Q.69. Chakmak Abhiyan is related to which of the following
department in Chhattisgarh.
(a) Women and Child Development
(b) Mineral Development
(c) Education ans Skill Development
(d) None of these

Q.70. According to Chhattisgarh Economic Survey 2022-23,
What are the number of Primary Agriculture credit
cooperative societies in Chhattisgarh?
(a) 2085
(b) 1443
(c) 2058
(d) 1333

Q.71. According to Chhattisgarh Economic Survey 2022-23,
consider the following statement and select the correct
statement-
1. The number of Krishi yantra seva kendra  in

Chhattisgarh is 2805.
2. The Total irrigated area in Chhattisgarh at present

is 39.75%.
Code:
(a) 1 Only
(b) 2 Only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q.72. What is the objective of Siyan Jatan Clinic Yojana?
(a) To provide better treatment and health services to

the Children.
(b) To provide better treatment and health services to

the elderly.
(c) To provide better treatment and health services to

the Women.
(d) None of these

Q.73. Dr. Khubchand Baghel Swastha Sahayata Yojana
includes which among the following scheme in
Chhattisgarh?
1. Pradhan Mantri Jan Arogya Scheme.
2. Rashtriya Bal Swastha Bima Yojana.
3. Mukya Mantri Bal Hriday Suraksha Yojana.
4. Mukya Mantri Bal Shravan yojana.
5. Mukya Mantri swastha Bima yojana.
Code:
(a) 1,2,3 Only
(b) 1,3,4 Only
(c) 2,3,4,5
(d) All of the above
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Q.74- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u
djsa&
1- eq[;ea=h fo'ks"k LokLF; lgk;rk ;kstuk ds rgr çfr

ifjokj 10 yk[k #i;s dh foÙkh; lgk;rk çnku dh
tkrh gSA

2- M‚- [kwcpan c?ksy LokLF; lgk;rk ;kstuk ds rgr çfr
ifjokj 20 yk[k :i;s dh vkfFkZd lgk;rk çnku dh
tkrh gSA

dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.75- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u
djsa&
1- eq[;ea=h vkfnoklh ijc lEeku fufèk ;kstuk 13 vçSy

2023 dks 'kq: dh xbZ FkhA
2- —".k dqat ;kstuk dh 'kq#vkr 19 vxLr 2022 dks dh

xbZ FkhA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.76- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fuEufyf[kr
dFku ij fopkj djsa vkSj vlR; dFku dk p;u djsa&
1- lgdkjh lfefr;ksa }kjk lapkfyr mfpr ewY; nqdkuksa dh

la[;k 4769 gSA
2- efgyk Lo&lgk;rk lewgksa }kjk lapkfyr mfpr ewY;

nqdkuksa dh la[;k 4756 gSA
3- xzke iapk;rksa }kjk lapkfyr mfpr ewY; nqdkuksa dh

la[;k 3867 gSA
dwV %
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) buesa ls dksbZ ugha
(d) mijksDr lHkh

Q.77- fuEufyf[kr dFku ij fopkj djsa vkSj vlR; dFku dk p;u djsa&
1- lkoZtfud forj.k ç.kkyh esa ikjnf'kZrk ,oa tuHkkxhnkjh

c<+kus gsrq 2008 ls d‚y lsaVj lapkfyr fd;s tk jgs gSaA
2- bu d‚y lsaVjksa dk Vksy Ýh uacj 1967 gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.74. Consider the following statement and select the correct
statement-
1. Under Mukhyamantri Vishesh Swastha Sahayata

Yojana per family Rs. 10 Lakh financial assistance
is provided.

2. Under Dr. Khubchand Baghel Swastha Sahayata
Yojana per family Rs. 20 Lakh financial assistance
is provided.

Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.75. Consider the following statement and select the correct
statement-
1. Mukhyamantri Adivasi Parab samman Nidhi yojana

was started on 13th April 2023.
2. Krishna Kunj Yojana was started on 19th August

2022.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.76. According to Chhattisgarh Economic Survey 2022-23,
consider the following statement and select the
incorrect statement-
1. The number of Fair Price Shops operated by

Cooperative societies are 4769.
2. The number of Fair Price Shops operated by Women

Self Help Groups are 4756.
3. The number of Fair Price Shops operated by Gram

Panchayats are 3867.
Code:
(a) 1 and 2
(b) 1 and 3
(c)  None of these
(d) All of these

Q.77. Consider the following statement and select the
incorrect statement-
1. To enhance transparency and public participation

in Public Distribution system from 2008 call centers
are operated.

2. The toll free number of these call centers is 1967.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these
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Q.78. Kaushalya Matritva Yojana was launched on -
(a) 8th March, 2021
(b) 19th November, 2020
(c) 7th March, 2023
(d) None of these

Q.79. Which of these district has maximum and minimum fair
price shops in Chhattisgarh? (According to
Chhattisgarh Economic Survey 2022-23)
(a) Bilaspur and Narayanpur
(b) Raipur and Bijapur
(c) Bilaspur and Bijapur
(d) None of these

Q.80. Consider the following statement and select the
incorrect statement-
1. Mukhyamantri Chhattisgarhi Parb Samman Nidhi

Yojana was Launched on 20th April 2023.
2. Mor Bijli Mor App was Launched on 6th October,

2020.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.81. Consider the following statement under Public
distribution system, distribution of Ration Cards
(According to Chhattisgarh Economic Survey 2022-23)
and select the correct statement-
1. The Number of Antayoday Family Ration Cards in

Chhattisgarh is 15.43 Lakh.
2. The Number of Primary Family Ration Cards in

Chhattisgarh is 56.53 Lakh.
3. The Number of General Family Ration Cards in

Chhattisgarh is 6.27 Lakh.
Code:
(a) 1 and 2
(b) 1 and 3
(c)  None of these
(d) All of the above

Q.82. How much growth rate from the last year is seen in the
Total revenue receipt in the financial year 2022-23?
(According to Chhattisgarh Economic Survey 2022-23)
(a) 8.56 %
(b) 7.55 %
(c) 6.06 %
(d) None of these

Q.78- dkS'kY;k ekrR̀o ;kstuk 'kq: dh xbZ &
(a) 8 ekpZ] 2021
(b) 19 uoacj] 2020
(c) 7 ekpZ] 2023
(d) buesa ls dksbZ ugha

Q.79- NÙkhlx<+ esa buesa ls fdl ftys esa vfèkdre ,oa U;wure
mfpr ewY; dh nqdkusa gSa\ ¼NÙkhlx<+ vkfFkZd loZs{k.k 2022&23
ds vuqlkj½
(a) fcykliqj vkSj ukjk;.kiqj
(b) jk;iqj vkSj chtkiqj
(c) fcykliqj vkSj chtkiqj
(d) buesa ls dksbZ ugha

Q.80- fuEufyf[kr dFku ij fopkj djsa vkSj vlR; dFku dk p;u
djsa&
1- eq[;ea=h NÙkhlx<+h ioZ lEeku fufèk ;kstuk 20 vçSy

2023 dks 'kq: dh xbZ FkhA
2- eksj fctyh eksj ,si 6 vDVwcj] 2020 dks y‚Up fd;k

x;k FkkA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.81- lkoZtfud forj.k ç.kkyh] jk'ku dkMZ forj.k ¼NÙkhlx<+
vkfFkZd loZs{k.k 2022&23 ds vuqlkj½ ds varxZr fuEufyf[kr
dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- NÙkhlx<+ esa vaR;ksn; ifjokj jk'ku dkMksZa dh la[;k 15-

43 yk[k gSA
2- NÙkhlx<+ esa çkFkfed ifjokj jk'ku dkMksZa dh la[;k 56-

53 yk[k gSA
3- NÙkhlx<+ esa lkekU; ifjokj jk'ku dkMksZa dh la[;k 6-

27 yk[k gSA
dwV %
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) buesa ls dksbZ ugha
(d) mijksDr lHkh

Q.82- foÙkh; o"kZ 2022&23 esa dqy jktLo çkfIr esa fiNys o"kZ ls
fdruh of̀) nj ns[kh tk jgh gS\ ¼NÙkhlx<+ vkfFkZd loZs{k.k
2022&23 ds vuqlkj½
(a) 8-56 izfr”kr
(b) 7-55 izfr”kr
(c) 6-06 izfr”kr
(d) buesa ls dksbZ ugha
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Q.83. According to Chhattisgarh Economic Survey 2022-23
at constant price, consider the following statement and
select the incorrect statement-
1. Maximum growth rate in GSDP in 2022-23 can be

seen in Trade, Hotel and refreshments.
2. Maximum share in GSDP in the year 2022-23 is seen

in Manufacturing.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.84. Consider the following statement and select the incorrect
statement-
1. According to the SRS report 2018-20, MMR in

Chhattisgarh is 137 per Lakh.
2. According to the SRS report 2018-20, IMR in

Chhattisgarh is 38 per thousand.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.85. According to Chhattisgarh Economic Survey 2022-23,
consider the following statements regarding GSDP at
constant price and select the correct statement
1. The maximum Growth rate in Agriculture sector can

be seen in the year 2016-17.
2. The maximum Growth rate in service  sector can be

seen in the year 2019-20.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.86. Consider the following statement and select the
incorrect statement-
1. 1st C-Mart store was inaugurated in Raipur

Chhattisgarh.
2. The objective of this scheme is to promote Local

produce.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.83- fLFkj ewY; ij NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj
fuEufyf[kr dFku ij fopkj djsa vkSj vlR; dFku dk p;u
djsa&
1- 2022&23 esa th,lMhih esa vfèkdre of̀) nj O;kikj]

gksVy vkSj tyiku esa ns[kh tk ldrh gSA
2- lky 2022&23 esa th,lMhih esa lcls T;knk fgLlsnkjh

fofuekZ.k esa vuqekfur gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.84- fuEufyf[kr dFku ij fopkj djsa vkSj vlR; dFku dk p;u
djsa&
1- SRS fjiksVZ 2018&20 ds vuqlkj] NÙkhlx<+ esa ekr`

eR̀;q nj ¼MMR½ 137 çfr yk[k gSA
2- SRS fjiksVZ 2018&20 ds vuqlkj] NÙkhlx<+ esa f”k”kq

eR̀;q  nj ¼IMR½ 38 çfr gtkj gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.85- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fLFkj ewY;
ij th,lMhih ds lacaèk esa fuEufyf[kr dFkuksa ij fopkj djsa
vkSj lgh dFku dk p;u djsa
1- —f"k {ks= esa lcls T;knk of̀) nj o’kZ 2016&17 esa izkIr

gqbZA
2- o’kZ 2019&20 esa lsok {ks= esa lcls T;knk of̀) nj izkIr

gqbZA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.86- fuEufyf[kr dFku ij fopkj djsa vkSj vlR; dFku dk p;u
djsa&
1- jk;iqj NÙkhlx<+ esa igys lh&ekVZ LVksj dk mn~?kkVu

fd;k x;kA
2- bl ;kstuk dk mís'; LFkkuh; mit dks c<+kok nsuk gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha
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Q.87. Pauni Pasari Scheme was Launched on-
(a) 2nd October 2020
(b) 2nd October 2019
(c) 1st January 2019
(d) 1st January 2020

Q.88. Which among the following districts comes under
complete organic districts of Chhattisgarh?
1. Sukma 2. Bijapur
3. Kanker 4. Narayanpur
5. Mahasamund
Code:
(a) 1 and 2 Only
(b) 1,3,5 Only
(c) 1,2,4 Only
(d) All of these

Q.89. According to Chhattisgarh Economic Survey 2022-23,
consider the following statement and select the correct
statement-
1. Soil testing laboratory is established in 11 mandis

of Chhattisgarh.
2. Mini Soil testing laboratory is established in 101

mandis of Chhattisgarh.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.90. According to Chhattisgarh Economic Survey 2022-23,
consider the following statement and select the correct
statement-
1. 14 Agriculture Upaj Mandis are connected with e-

NAM in Chhattisgarh.
2. At present in Chhattisgarh there are 75 Agriculture

Upaj mandis and 120 upmandis.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.91. Arrange the Horticulture crops production (According
to Chhattisgarh Economic Survey 2022-23) in
Descending order-
1. Vegetables 2. Fruits
3. Spice 4. Flower
Code:
(a) 1>3>2>4
(b) 1>2>4>3
(c) 1>3>2>3
(d) 1>2>3>4

Q.87- ikSuh ilkjh ;kstuk dc 'kq: dh xbZ Fkh\
(a) 2 vDVwcj 2020
(b) 2 vDVwcj 2019
(c) 1 tuojh 2019
(d) 1 tuojh 2020

Q.88- fuEufyf[kr esa ls dkSu lk ftyk NÙkhlx<+ ds iw.kZ tSfod
ftyksa ds varxZr vkrk gS\
1- lqdek 2- chtkiqj
3- dkadsj 4- ukjk;.kiqj
5- egkleqan
dwV %
(a) dsoy 1 vkSj 2
(b) dsoy 1]3]5
(c) dsoy 1]2]4
(d) ;s lHkh

Q.89- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fuEufyf[kr
dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- NÙkhlx<+ dh 11 eafM;ksa esa eǹk ijh{k.k ç;ksx'kkyk

LFkkfir gSA
2- NÙkhlx<+ dh 101 eafM;ksa esa feuh ènk ijh{k.k ç;ksx'kkyk

LFkkfir gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.90- NÙkhlx<+ vkfFkZd loZs{k.k 2022&23 ds vuqlkj fuEufyf[kr
dFku ij fopkj djsa vkSj lR; dFku dk p;u djsa&
1- NÙkhlx<+ dh 14 —f"k mit eafM;ka  e-NAM ls tqM+h gSaA
2- orZeku esa NÙkhlx<+ esa 75 —f"k mit eafM;ka vkSj 120

mieafM;ka gSaA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.91- m|kfudh Qlyksa ds mRiknu ¼NÙkhlx<+ vkfFkZd loZs{k.k
2022&23 ds vuqlkj½ dks vojksgh Øe esa O;ofLFkr djsa&
1- lfCt;k¡ 2- Qy
3- elkyk 4- iq’i
dwV %
(a) 1>3>2>4
(b) 1>2>4>3
(c) 1>3>2>3
(d) 1>2>3>4
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Q.92. In which of the following places in Chhattisgarh, Mandis
were connected with e-NAM under the first phase-
1. Dhamtari
2. Kawardha
3. Kurud
4. Mungeli
5. Rajnandgaon
Code:
(a) 1 and 2 Only
(b) 2,3,5 Only
(c) 1,2,4 Only
(d) All of these

Q.93. Consider the following statement and select the correct
statement-
1. Pig breeding sector is located in Sarora, Raipur.
2. Goat breeding sector is located in Sakalo, Sarguja.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.94. Which of the following is incorrectly matched?
Organic Brand District
1. Changro Rice Balrampur
2. Agar Organic product Mungeli
3. Aroog Organic Rajnandgaon
Code:
(a) 1 and 2
(b) 1 and 3
(c)  None of these
(d) All of these

Q.95. Consider the following statement and select the correct
statement-
1. There are 9 pariyojana mandals under the

Chhattisgarh Rajya Van Vikas Nigam.
2. There are 3  Industrial pariyojana mandals under

the Chhattisgarh Rajya Van Vikas Nigam.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.92- çFke pj.k ds varxZr NÙkhlx<+ esa fuEufyf[kr esa ls fdl
LFkku dh eafM;ksa dks e-NAM ls tksM+k x;k&
1- èkerjh
2- doèkkZ
3- dq#n
4- eqaxsyh
5- jktukanxkao
dwV %
(a) dsoy 1 vkSj 2
(b) dsoy 2]3]5
(c) dsoy 1]2]4
(d) ;s lHkh

Q.93- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u
djsa&
1- lwdj çtuu {ks= ljksjk] jk;iqj esa fLFkr gSA
2- cdjh çtuu {ks= ldkyks] ljxqtk esa fLFkr gSA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.94- fuEufyf[kr esa ls dkSu lk dFku vlqesfyr gS\
tSfod czkaM ftyk
1- pkaxzks pkoy & cyjkeiqj
2- vkxj tSfod mRikn & eqaxsyh
3- vk:x v‚xZsfud & jktukanxkao
dwV %
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) buesa ls dksbZ ugha
(d) ;s lHkh

Q.95- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u
djsa&
1- NÙkhlx<+ jkT; ou fodkl fuxe ds varxZr 9 ifj;kstuk

eaMy gSaA
2- NÙkhlx<+ jkT; ou fodkl fuxe ds varxZr 3 vkS|ksfxd

ifj;kstuk eaMy gSaA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha
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Q.96. Which among the following Van mandal (Forest Circles)
are included under CAMPA Scheme?
1. Keshkal
2. Dhamtari
3. Durg
4. Chirmiri
Code:
(a) 1 and 2
(b) 1 and 3
(c)  2 and 4
(d) All of these

Q.97. Consider the following statement and select the correct
statement-
1. CMDC was established in the year 2001.
2. DMF was established in the year 2015.
Code:
(a) 1 Only
(b) 2 Only
(c) 1 and 2
(d) None of these

Q.98. Chhattisgarh Copper Limited was established in the year-
(a) 2018 (b) 2019
(c) 2020 (d) None of these

Q.99. Which of the following is correctly matched?
Type of Industrial area Industrial Area
1. Large - Silpahri
2. Medium - Bhanpuri
3. Small - Mehrumkala
4. Micro -Tendua
Code:
(a) 1 and 2 Only
(b) 1,2,3 Only
(c) 1,2,4 Only
(d) All of these

Q.100. Match the following-
List-1 (Industrial Park) List-2 (Places)
A. Metal park 1. Rawabhata
B. Food park 2. Bagod
C. Engineering park 3. Hathkhoj
D. Electronic Manufacturing Cluster 4. Nawa Raipur

A B C D
(a) 1 2 3 4
(b) 2 3 4 1
(c) 2 3 1 4
(d) 1 3 2 4

Q.96- fuEufyf[kr esa ls dkSu lk ou eaMy ¼ou eaMy½ CAMPA
;kstuk ds varxZr 'kkfey gS\
1- ds'kdky
2- èkerjh
3- nqxZ
4- fpjfejh
dwV %
(a) 1 vkSj 2
(b) 1 vkSj 3
(c) 2 vkSj 4
(d) ;s lHkh

Q.97- fuEufyf[kr dFku ij fopkj djsa vkSj lR; dFku dk p;u
djsa&
1- CMDC dh LFkkiuk o"kZ 2001 esa gqbZ FkhA
2- DMF dh LFkkiuk o"kZ 2015 esa dh xbZ FkhA
dwV %
(a) dsoy 1
(b) dsoy 2
(c) 1 vkSj 2
(d) buesa ls dksbZ ugha

Q.98- NÙkhlx<+ d‚ij fyfeVsM dh LFkkiuk o"kZ esa dh xbZ Fkh&
(a) 2018 (b) 2019
(c) 2020 (d) buesa ls dksbZ ugha

Q.99- fuEufyf[kr esa ls dkSu lk lgh lqesfyr gS\
vkS|ksfxd {ks= dk çdkj vkS|ksfxd {ks=
1- og̀n & flyigjh
2- eè;e & Hkuiqjh
3- y?kq & eg#edyk
4- lw{e & rsanqvk
dwV %
(a) dsoy 1 vkSj 2
(b) dsoy 1]2]3
(c) dsoy 1]2]4
(d) ;s lHkh

Q.100- fuEufyf[kr dks feyk,a&
lwph&1 ¼vkS|ksfxd ikdZ½ lwph&2  ¼LFkku½
A. esVy ikdZ 1- jkokHkkVk
B. QwM ikdZ 2- ckxksn
C. bathfu;fjax ikdZ 3- gFk[kkst
D. bysDVª‚fud eSUkqQsDpfjax 4- uok jk;iqj

DyLVj
A B C D

(a) 1 2 3 4
(b) 2 3 4 1
(c) 2 3 1 4
(d) 1 3 2 4
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